Homework 6: AE302, High-Speed Aerodynamics
March 5, 2007

Due: March 12, 2007, beginning of class

Problem 1.
10.9 
Note 1: One of the exit pressures will yield a shock wave in the diverging section. You will have to determine the location of the shock wave in the nozzle to calculate the exit Mach number at the given pressure. You will have to do this iteratively: i.e. try a shock location, and then determine the exit Mach number and pressure, then adjust the shock location until you have reached a solution for the exit Mach number and correct exit pressure.
Note 2: The shock changes the total pressure. This means that At is no longer A* for the flow after the shock! Take this into account in your calculations.

Problem 2
10.4, 10.11 (SI Units)












